Gestion de données

------

Classes - intervalles

Complete le tableau des effectifs :

Classe
d'dges

Moins de
20 ans

De 20 a
29 ans

De 30 a
39 ans

De 40 a
49 ans

Plus de
50 ans

Effectif

@

6

Combien y a t-il d'employés dans cette entreprise ?

\47

175
171
166
166

166
166
178
171

166
163
168

154 152

160=T<165

165
161
167
161

167

Taille possibles :
160 — 161 — 162
163 — 164 — 165

165
154
161
160

152
168
161
168

169
154
167
150

174
153
154
167

166
163
163
161

T=160

160=T=165

161
168
172
175

164
168
174
173

162
164
162
156

non

160
173
165
155

162
166
167
167

163
156
163
178

172

165<T<170

165 -

163
167
163
171

167
158
180
171

Taille possibles :

173
162
155
166

166
166
166
178

167
164
159
151

Taille T (encm)

T=160

160=T <163

1653=2T<170

170=T<173

175=T

Effectif

o

4

166
158
167
168

171
168
171
178

161
155
151
163

172
156
167
164

162
165
162
167

168
171
166
158

Taille T {encm)

T=160

160=T=<165

165T=170

170=T=175

1757

Effectif

o
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